
Pythagorean Theorem (D)
Name: Date:

Calculate the missing side measurement using a2 + b2 = c2.

1.

a
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1i
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Pythagorean Theorem (D) Answers
Name: Date:

Calculate the missing side measurement using a2 + b2 = c2.

1.

9.9 in

8.
1i
n 12.79 in

a2 + 8.12 = 12.792

a =
√
163.5841− 65.61

a = 9.9 in

2.

19.5 km

24
km

30.92 km

19.52 + b2 = 30.922

b =
√
956.0464− 380.25

b = 24 km

3.

12mi

16
.4
m
i 20.32mi

122 + 16.42 = c2

c =
√
144+ 268.96
c = 20.32mi

4.

17 cm

12
cm

20.81 cm

a2 + 122 = 20.812

a =
√
433.0561− 144

a = 17 cm

5.

2 cm

4.
5c

m

4
.92 cm

22 + b2 = 4.922

b =
√
24.2064− 4
b = 4.5 cm

6.

7.8 cm

6.
4c

m

10.09 cm

7.82 + 6.42 = c2

c =
√
60.84+ 40.96
c = 10.09 cm
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